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it (Z) 3 1,650.2 |BSAEBSEHYTHE 20  1,1288 |EHYMHE 2 4,410.1
AT KB 4 695.0 |[mEiEi S ERYhE 21] 32813
b 5 217.0 |XR4} ER AR h AT IEE 30 0.0 |&BTHETELE 3 615.0
R% 6 0.0 |Frfir &R AN th ST B8 31 615.0
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ARBERAE

TEAE
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HhigZE bR
S EiER RC PR S
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Th&Hh (B) 4350 0.1 4350
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Einilisay 695.0 0.0 0.00
FHih 217.0 0.0 0.00
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#EHEL L
Eng= RSP RES
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& T ELE 435.0 10 870.0
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FEER kmIUER  [FEXR BElaf LR = |
2.340.6 15 351 36
13.0 49
FiLRNEE
S EiER MR LR RETEEE
ZET AT 0.0 23 0.00
Th&THh (B) 4350 19 826.50
Hifr (2) 558.6 1.4 782.04
Einlisay 695.0 05 347.50
FHih 217.0 0.0 0.00
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#EHEL L
FiL R TS T EEE |
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EELAE Al R b SEN R
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ZR4TZB 00 [FEHYUhE 05
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ARBERAE

TEAE
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HIEIE

Hhigi b S
S EiER RC PR S
ZET AT 0.0 0.1 0.00
Th&Hh (B) 0.0 0.1 0.00
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BEIEE 0.00
HMEHESLEE
Eng RSP RES
— e 1,091.6 0.0 1,091.6
(& T ELE 0.0 10 0.0
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HEHEAR
FEER kmIUER  [FEX BElaf LR = |
1,091.6 15 16.4 17
11.0 28
ZLESSE
S EiER Mol ZE 1B =R REEEE
ZET AT 0.0 23 0.00
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HMEHESLEE
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SIS Export Dataset

1.
SIS Export Dataset V7.1

SIS Export Dataset

SIS Export Dataset(SED) SIS

SED ASCII

SIS
SIS
SED SIS
SED
DM
DM SED
E1l SisltemArea
E2 SisltemLine
E6 SisltemPoint
DM
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10QES5039
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it

016

SED

1
SisCurvePolyline

SisltemLine

16
0x00000001

X,Y,Z
{-1.69,-1.69,0.0}

(SisCoordinateSystem)
(SisDatum)
(SisEllipsoid)

(SisTransverseMercator)

(SisCoordinateSystem)
XY /

XY = Metres

= Degrees

= 2

(2000) = 2442 +1 19

SisCurveBulge

SIS

16

+1.000000000000e+001

SIS

16

Ox
0x

SIS



(SisDatum)

/ true
WGS84= 1
Tokyo= 2
Ireland1965 = 3
Great Britain= 4
ED50 = 5
NorthAmerican1927 = 6
NorthAmerican1983 = 7
= 0
m
m
, , TWGS84
X,Y,Z(m)
, ,» [TWGS84
XY, Z
7WGS84
ppm,100 1
7WGS84
( ) ( )
0
(SisEllipsoid)
/ true
m
m
(SisTransverseMercator)
/ true

y X,Y,Z (m)
< >

SisCoordinateSystem

{

Degrees, (1- )

111319, (1- )

4301, (1- )

true, (1- )

true, (1- )

17



true, (1- )

SisDatum -
{
11 (2- )

6.37814e+006, (2- )
6.35675e+006, (2- )
0,(2- )

0,(2- )
0,(2- )
0,(2- )
0,(2- )
0,(2- )
0,(2- )
0(2 )

} -

SisEllipsoid -

{

6.37814e+006, (3- )
6.35607e+006 (3- )

} -

SisTransverseMercator -
{

0, (4 )

0, (4 )

0.9996, (4- )

0, (4 )

0, (4 )

0(4- )

} -

} -

4.

- (Sisltem)
- - (SisAS)

- SisltemPoint

- SisltemMultiPoint
- - (SisPL)

- SisltemNode

- - (CDWordArray)

- SisCurvePolyline,SisCurveBulge
- - (SisCurvePolyline)
- - (SisCurveBulge)
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SisltemLine
SisCurveComplex

SisltemMultiLine

(SisLL)
SisltemChain
ID (CDWordArray)
SisltemLink
SisltemArea
(SisCL)
SisltemMultiArea
(SisAL)
SisltemPolygon
(CDWordArray)
(CDWordArray)
SisltemTextFixed
SisltemTextLabel
SisltemText
SisBlock
(Sislteminsert)
SisltemAssembly
SisltemGroup
(SislL)
SisltemMultiGeometry
(SislL)
Sisltem
ID(_id&)(16 )
(_ FC&)
(_featureTable$)
(_scalemin#)
(_scalemax#)
(_scale#)
(_level&)
(_brush$)( )
(_layer$)
(_pen$)( )
(SisAS)
Sisltem

19



: SisValueDouble{"test3#",+1.01}

: SisValueLong{"test2&",1}

: SisValueString{"test$"," "}

< >
SisltemArea

{

Sisltem -

{
0x00000001, (1-1- )
0, (1-1- )
" (1-1- )
+0.000000000000000e+000, (1-1- )
+0.000000000000000e+000, (1-1- )
+1.000000000000000e+000, (1-1- )
0, (1-1- )
"B_ST_130:255:127_255:255:255", (1-1- )
" (1-1- )
"P_SOLID_196:0:0 OR_0", (1-1- )
"o(1-1- )
SisAS -
{
SisValueDouble{"test3#",+1.01}, (1-1-1- )
SisValueLong{"test2&",1}, (1-1-1- )
SisValueString{“test$"," " (1-1-1- )
} -
} -
}

2 SisltemPoint

(Langle#)

XY X(ox#t),  Y(oy#), Z(_oz#)
< >

SisltemPoint -

{

Sisltem

{

h
+0.000000000000000e+000, (2-1- )

{-3.584245076586436e+001,+8.271334792122531e+000,+0.0} (2-1- )

20



2 SisltemMultiPoint

(SisPL)

2 (SisPL)
(SisltemPoint)

(SisltemPaint)

< >

SisltemMultiPoint ~

{

Sisltem

{

SisPL -
{

SisltemPoint -

{

2

SisltemPoint -

{

} -
} -

2 SisltemNode
SisltemPoint
(CDWordArray)
(CDWordArray)
(_bAuto&)
= true
= false
(_bEdge&)
= True

= false

2 (CDWordArray)

21



SisltemNode -
{

SisltemPoint -

{

b

CDWordArray -

{

0x00000000 (2-3-1- )
}1 «

false, (2-3- )

false (2-3- )

} -

3 SisCurvePolyline,SisCurveBulge

(SisCurvePolyline) (SisCurveBulge)

3 (SisCurvePolyline)

(np&)
+1

n
XY X(_ox#), Y(_oy#), Z(_oz#)
3 (SisCurveBulge)

XY, Z

XY, Z

( )
v XY, Z
0 0 1

< >
SisCurvePolyline -
{
5, (3-1-1- )
{-7.136212624584715e+000,-4.311461794019934e+001,+0.0}, (3-1-1- )
{-7.136212624584715e+000,+5.322425249169436e+001,+0.0}, (3-1-1- )

{-7.136212624584715e+000,-4.311461794019934e+001,+0.0} (3-1-1-n)

} -

SisCurveBulge -

{

{-1.693654266958424e+001,-1.693654266958424e+001,+0.0}, (3-1-2- )
{-1.115975206966952e+001,+0.000000000000000e+000,+0.0}, (3-1-2- )
+2.020723133945935e-001, (3-1-2- )

22



+0.000000000000000e+000, (3-1-2- )
+0.000000000000000e+000, (3-1-2- )
+1.000000000000000e+000 (3-1-2- )

} -

3 SisltemLine
SisCurvePolyline,SisCurveBulge SisCurveComplex

< >

SisltemLine -

{

Sisltem

{

2

SisCurvePolyline -

{

} -

SisCurveBulge -

{

} -
} e
3 SisCurveComplex

SisCurvePolyline,SisCurveBulge

< >
SisCurveComplex -

{

SisCurveBulge -

{
}
SisCurveBulge -
{
}

SisCurvePolyline -

{

3 SisltemMultiLine

23



(SisLL)
3 (SisLL)
(SisltemLine)

(SisltemLine)

< >
SisltemMultiLine -

{

Sisltem

{

h
SisLL -

{

SisltemLine «

{

2

SisltemLine «

{

3 SisltemChain

(_cluster$)
3 ID (CDWordArray)
ID
16
n ID(_id&) 16

< >
SisltemChain -~
{

SisltemPoint

{

h

CDWordArray - ID
{

0x00000001, (3-5-1- )
0x00000004 (3-5-1- )

) - ID

24



3 SisltemLink
SisltemLine
(_bAuto&)

true
= false
ID(id&) 16
ID(id&) 16
(_fDirection&)

< >
SisltemLink «

{

SisltemLine

{

h

true, (3-6- )
0x00000001, (3-6- )
0x00000002, (3-6- )
0(3-6- )

} -

4 SisltemArea
SisCL

= true

= false

XY X(ox#),  Y(oy#), Z(oz#)
4 (SisCL)

< >
SisltemArea -

{

Sisltem

{

25



b
SisCL -

{
SisCurvePolyline (4-1-1- )

{

}
} o«
true, (4-1- )
{+8.665207877461697e+000,-6.695842450765866e+000,+0.0} (4-1- )
} -

4 SisltemMultiArea

(SisAL)
4 (SisAL)
(SisltemArea)

(SisltemArea)

< >
SisltemMultiArea -

{

Sisltem

{

h
SisAL «

{

SisltemArea -

{

2

SisltemArea -

{

4 SisltemPolygon
(SisltemPoint)

1 (_cluster$)
4 (CDWordArray)

(_numloops&) 16
2 16

26



4 (CDWordArray)

16
n ID(id&) 16
< >
SisltemPolygon -

{

SisltemPoint

{

h

CDWordArray -

{

0x00000001, (4-3-1- )
0x00000005 (4-3-1- )
}1 “«

CDWordArray -

{

0x00000005, (4-3-2- )
0x00000032, (4-3-2- )
Oxffffffc8, (4-3-2- )

Ox(fffffbb (4-3-2-n)

} -
" - (4-3- )
} -
5
5
(Langle#)
XY X(_ox#), Y(_oy#),
(_character_height#)
XY m
(_font$)
(_text$)
(_text_alignV&)
= 0
= 6
= 8
= 10
= 14
= 24
= 26

SisltemTextFixed

Z(_oz#)

(_text_alignH&)

27



= 72
= 74
= 78
(_text_bold&) (_text_italic&) (_text_underlined&)
= 0
= 1
= 2
= 3
= 4
= 5
= 6
= 7
< >

SisltemTextFixed -

{

Sisltem

{

h

+0.000000000000000e+000, (6-1- )
{-5.487230836952102e-008,+2.344717294460255e-007,+0.0}, (6-1- )
+3.169056696754978e-008, (6-1- )

" " (6-1- )

" " (6-1- )

6, (6-1- )

0(6-1- )

} -

5 SisltemTextLabel
(SisltemTextFixed)

XY X(ox#),  Y(oy#), Z( ozt)

< >

SisltemTextLabel -

{

SisltemTextFixed -

{

h

{+3.719649999999999e+003,-4.288127999999999e+004,+0.000000000000000e+000}(6-2- )

} -

5 SisltemText
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(_angle#)

XY X(_ox#), Y(_oy#), Z(_oz#)
*10
(_font$)
(_text$)
(_text_alignV&) (_text_alignH&)
= 0
= 6
= 8
= 10
= 14
= 24
= 26
= 30
= 72
= 74
= 78
(_text_bold&) (_text_italic&) (_text_underlined&)
= 0
= 1
= 2
= 3
= 4
= 5
= 6
= 7
< >

SisltemText

{

Sisltem

{

3

+0.000000000000000e+000, (6-3- )
{-1.467291583639268e-008,+5.575708017829208€-008,+0.0}, (6-3- )
100, (6-3- )
" " (6-3- )
" (6-3- )
0,(6-3- )

0(6-3- )

6 SisBlock
SisBlock (Sislteminsert)
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XY

<

SisBlock
SisBlock
(SislL)
X,\Y,Z
(_block$)

X(_ox#), Y (_oy#),

16

>

SisBlock «

{

{+0.0,+0.0,+0.0}, (7-1- )
SislL -

{

SisltemArea -

{

Sisltem

{

0x00000000,

}

"(7-1- )

SisltemlInsert -

{

Sisltem

{

2

{+1.000000000000000e+000,+0.000000000000000e+000,+0.0}, (7-2-
{+0.000000000000000e+000,+1.000000000000000e+000,+0.0}, (7-2-
{+0.000000000000000e+000,+0.000000000000000e+000,+1.0}, (7-2-
{+4.056892778993435e+001,+1.614879649890591e+001,+0.0}, (7-2-

0x00000001 (7-2- )

} -

(Sislteminsert)

Z(_oz#)
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6 SisltemAssembly

n ID(id&) 16
< >
SisltemAssembly -
{
SisltemPoint
{

Sisltem

{

3

4,(7-3- )
0x00000004, (7-3- )
0x00000001, (7-3- )

0x00000003 (7-3-n)

} -
6 SisltemGroup
6 (SisIL)

< >

SisltemGroup -

{

Sisltem

{

h
SislL -

{

SisltemArea -

{

} -
} -

6 SisltemMultiGeometry
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< >
SisltemMultiGeometry -

{

Sisltem

{

h
SislL «

{

SisltemPoint -

{

2

SisltemLine «

{

(SisIL)

(SisIL)
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SisCoordinateSystem

{

Metres, XY

1.000000000000000e+000, m”

2452,

(2000).10

true,

true,

true,

SisDatum [ ]

{
6612, JGD2000
6.378137000000000e+006, (m)
6.356752314140360e+006, (m)
+0.000000000000000e+000, WGS84 X(m)
+0.000000000000000e+000, WGS84 Y(m)
+0.000000000000000e+000, WGS84 Z(m)
+0.000000000000000e+000, WGS84 X( )
+0.000000000000000e+000, WGS84 Y( )
+0.000000000000000e+000, WGS84 Z( )
+0.000000000000000e+000, WGS84
+0.000000000000000e+000 0

5 ,

SisEllipsoid [ ]

{
6.378137000000000e+006, (m)
6.356752314140360e+006 (m)

b

SisTransverseMercator [ |

{
+1.408333333333330e+002, “)
+4.000000000000000e+001, “)
9.999000000000000e-001, X(m)
-0.000000000000000e+000, Y(m)
-0.000000000000000e+000, Z(m)

+0.000000000000000e+000
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SisltemPoint

{
Sisltem ]
{
0x00000001, ID
9101, DM
DM.500",
+0.000000000000000e+000,
+0.000000000000000e+000,
+1.000000000000000e+000,
0,
"B_ST_85:237:254 255:255:255",
"P_SOLID 128:128:128 OR 0",
SisAS ]
{
SisValueString{"Atr5$"," ' Atr5
SisValueString{"Atr4$"," s Atr4
SisValueString{"Atr1$"," ,050374"}, Atrl
SisValueString{"Atr6$"," S Atré
SisValueString{"Atr0$"," 3"}, Atr0
SisValueLong{"dmFigType&",0}, FigType
SisValueLong{"dmType&",6}, ClassLocal
SisValueString{"Atr3$"," ' Atr3
SisValueString{"Atr2$"," ' Atr2
SisValueLong{"dmCode&",9101} Code
}
}
+2.407141865520004e+000 ( )
{+3.967035000000000e+003,-1.959425730000000e+005,+0.00000000000 XY Z(m)
0000e+000} '
} ,
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SisltemLine

{

Sisltem

{

0x00000062

9103

DM

DM.500",

+0.000000000000000e+000

+0.000000000000000e+000

+1.000000000000000e+000

0

"B_ST_85:237:254 255:255:255"

"P_SOLID_102:255:0_OR_0"

SisAS

{

SisValueString{"Atr4$"," 1",

Atr4d

SisValueString{"Atr5$"," 1",

Atr5

SisValueString{"Atr1$"," ,920286"},

Atrl

SisValueLong{"dmFigType&",0},

FigType

SisValueString{"Atr0$"," 1",

AtrO

SisValueLong{"dmType&",2},

ClassLocal

SisValueString{"Atr2$"," 12",

Atr2

SisValueString{"Atr3$"," ,0"},

Atr3

SisValueLong{"dmCode&",9307}

Code

}

}

SisCurvePolyline

{

4,

+1

{+4.000000000000000e+003,-1.959150940000000e+005,+0.00000
0000000000e+000},

X,Y Z(m)

{+3.984695000000000e+003,-1.959466810000000e+005,+0.00000
0000000000e+000},

{+3.976347000000000e+003,-1.959646400000000e+005,+0.00000
0000000000e+000},

{+3.863181000000000e+003,-1.962000000000000e+005,+0.00000
0000000000e+000}
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SisltemArea [ n

{

Sisltem n ]

{

0x00000007, ID

9401, DM

" DM.500",

+0.000000000000000e+000

+0.000000000000000e+000

+1.000000000000000e+000

0

"B_ST_85:237:254_255:255:255"

"P_SOLID_128:128:128 OR_0",

SisAS ] [ ]
{
SisValueString{"Atr1$"," ,920286"}, Atrl
SisValueString{"Atr0$"," 1", Atr0
SisValueLong{"dmFigType&",0}, FigType
SisValueLong{"dmType&",1}, ClassLocal
SisValueString{"Atr3s$"," ,2013/03/15"}, Atr3
isval NG ALr2S" "
SisVa ueStrI!}ng{ tr2$", ) Atr2
SisValueLong{"dmCode&",9401} Code
}
}
SisCL [ | [ ]
{
SisCurvePolyline - u
{
15, +1
{+3.934509000000000e+003,-1.960934710000000e+005,+0.
X,Y Z(m)

000000000000000e+000},

{+3.940290000000000e+003,-1.960966360000000e+005,+0.
000000000000000e+000},

{+3.955042000000000e+003,-1.960652880000000e+005,+0.
000000000000000e+000},

{+3.945175000000000e+003,-1.960713290000000e+005,+0.
000000000000000e+000},

{+3.950634000000000e+003,-1.960599290000000e+005,+0.
000000000000000e+000},

{+3.960660000000000e+003,-1.960543440000000e+005,+0.
000000000000000e+000},

{+3.956720000000000e+003,-1.960472230000000e+005,+0.
000000000000000e+000},

{+4.000000000000000e+003,-1.959569880000000e+005,+0.
000000000000000e+000},

{+4.000000000000000e+003,-1.959000000000000e+005,+0.
000000000000000e+000},

{+3.986434000000000e+003,-1.959000000000000e+005,+0.
000000000000000e+000},

{+3.968000000000000e+003,-1.959381810000000e+005,+0.
000000000000000e+000},

{+3.964275000000000e+003,-1.959483940000000e+005,+0.
000000000000000e+000},

{+3.843100000000000e+003,-1.962000000000000e+005,+0.
000000000000000e+000},

{+3.883170000000000e+003,-1.962000000000000e+005,+0.
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000000000000000e+000},

{+3.934509000000000e+003,-1.960934710000000e+005,+0.
000000000000000e+000}

}

true,

{+3.930721169183925e+003,-1.960589590663440e+005,+0.00000000000
0000e-+000}

X,Y Z(m)

1
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1001

E2

4
1101 [0 E2
1103 [0 E2
1104 (0 E2
1106 [0 E2
1107 [0 E2
1111 0 E5
2101 0 E2
2104 0 E2 4
2104 99 E2 4
2105 |0 E2 4
2106 0 E2
2107 0 E2
2109 0 E2
2109 0 E6
2110 0 E2 3
2110 0 E7( )

2.0mm 0.0mm

2111 0 E2 3
2111 1 E2 3
2111 2 E2 3
2111 3 E2 3
2112 0 E2 3
2203 0 E2
2203 21 E2
2203 22 E2
2203 23 E2 3
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2204 0 |E2
2204 1 |E2

2205 0 |E2

2206 0 |E2

2206 21 |E2

2206 22 |E2

2206 23 |E2 3
2110 |2

2211 99 |E2

2120 |2

2212 99 |E2

2130 |E2

2140 |E2

2214 99 |E2

22150 |E2

2215 99 |E2

2216 0 |E2 5
2216 99 |E2 6
217 0 |E2 3
2180 |E2

2218 10 [E7C ) 1.5(mm ) 0..0mm
2190 |E2

22190 |6

22210 |6

222 0 |2

222300 |2 3
2223 09 |E2 6
22250 |2 3
2226 0 |E2

2270 |E2

228 0 |E2
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2229 0 E2 3 |°
2231 0 E2
2232 0 E2
2233 0 E2
2234 0 E2
2235 0 E2 o
2236 0 E2 o
2237 0 E2 3 o
2237 99 |E2 3 o
2238 |0 E5
2239 0 E5
2241 0 E6
2242 0 E6
2243 0 E6
2244 0 E6
2245 10 E6 2.5mm ,3 o
2246 0 E6
2247 0 E6
2251 0 E5
2252 0 E5
2253 |0 E5
2254 0 E5 1.0mm ,3 o
2255 0 E5
2256 |0 E5
2261 0 E2 o
2261 0 E5
2261 9 E5 o | o
2262 |0 E5
2263 |0 E5
2271 10 E2 3 o
2272 0 E2 3 o
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2301 0 E2
2302 |0 E2
2304 |0 E2
2305 |0 E2
2306 (0 E2
2309 (0 E2
2310 0 E2
2310 |99 |E2
2311 0 E2
2312 0 E2
2314 0 E2
2315 |0 E2
2401 |0 E2
2401 41 |E2
2401 {42 |E2
2411 |0 E2
2412 |0 E2
2419 0 E2
2419 |0 E6
2424 0 E2
2425 0 E2
2426 |0 E2
2428 |0 E2
3001 0 E2
3001 31 |E2
3001 32 |E2
3001 33 |E2
3001 (34 |E2
3001 35 |E2

41




3002 (0 E2
3002 31 [E2
3002 32 [E2
3002 33 [E2
3002 (34 [E2
3002 35 |E2
3003 (0 E2
3004 |0 E2
3401 |0 E2
3401 99 [E2
3402 |0 E2
3403 (0 E2
3403 99 [ES
3404 |0 E2
3503 (0 ES
3504 (0 ES
3505 |0 ES
3507 (0 ES
3508 |0 ES
3509 (0 ES
3510 |0 ES
3511 (0 ES
3512 |0 ES
3513 [0 ES
3514 (0 ES
3515 |0 ES
3516 (0 E5
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3517 |0 ES
3518 |0 ES
3519 |0 ES
3521 0 ES
3522 0 ES
3523 |0 ES
3524 |0 ES
3525 0 ES
3526 |0 ES
3527 |0 ES
3528 |0 ES
3529 |0 ES
3531 |0 ES
3532 0 ES
3534 0 ES
3536 |0 ES
3539 |0 ES
3545 |0 ES
3546 |0 ES
3548 0 ES
3549 0 ES
3550 |0 ES
3552 |0 ES
3556 |0 ES
3559 |0 ES
3560 |0 ES
4101 0 E2
4101 0 ES
4101 99 [E5
4111 |0 E2
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4111 (0 [E5 )
4111 (99 [E5 )
4119 0 [E5

4119 (99  [E6

4121 (0 [E2

4121 (0 [E5

4121 (99  [E5 )M
4131 (0 [E2

4131 (0 [E5

4131 (99  [E5 )M
4132 0 [E5

4132 199  [E6

4141 10 [E2

414110 [E5

4141 199  [E5 )
4142 0 [E5

4142 199  [E6

4151 (0 [E2

4151 (0 [E5

4151 (99  [E5

4161 (0 [E2

4161 (0 [E5

4161 (99  [E5

4171 (0 [E2 3
4171 199  [E5 2.0mn, 3
4201 (0 [E2

4201 (0 [E5
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4202 |0 E2 o
4202 |0 E5

4203 |0 E2 o
4203 |0 E5

4204 |0 E2 o
4204 |0 E5

4205 |0 E2 o
4205 |0 E5

4206 |0 E6

4207 |0 E2

4207 |0 E6

4211 |0 E5 1.5mm. 3
4212 |0 E5 1.5mm,3 o
4215 |0 E5

4216 |0 E5

4217 |0 E2 o
4217 199 |ES

4219 |0 E2 o
4219 |0 E6

4221 |0 E5

4222 |0 E5

4223 |0 E2 o
4223 |0 E5
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4224 E2
4224 ES
4225 E2
4225 ES
4226 E2
4226 ES
4227 E2
4227 ES
4228 E2
4228 ES
4231 E2
4231 ES
4232 E2
4232 ES
4233 E2
4233 ES
4234 E2
4234 ES

46




4235 E2
4235 ES
4236 E2
4236 ES
4237 ES
4238 ES
4241 E2
4241 ES
4242 E2
4242 ES
4243 ES
4245 E2
4245 ES
4251 E2
4251 ES
4252 E2
4252 ES
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4253 E2
4253 E5
4254 E2
4254 E5
4255 E2
4255 E5
4256 E2
4256 E5
4261 E2
4262 E2
4265 E2
5101 E2
5102 E2
5103 E2
5104 E2
5105 E2
5105 E5
5106 E2
5106 E5
5107 E2
5111 E2
5202 E2
5203 E2
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5204 (0 E2
5204 (0 ES
5211 |11 |E2
5211 (12 |E2
5212 |11 |E2
5212 (12 |E2
5212 199 |E5
5213 0 E2
5213 |99 [E6
5214 |0 E2
5214 199  |E6
5219 |0 E2
5219 0 E6
5221 |0 E6
5222 0 E2
5222 |0 ES
5226 (0 E6
5226 (11  |E2
5226 |12 |E2
5227 |0 E6
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5227 |11 |E2
5227 |12 |E2
5228 (0 E2
5228 (0 E6
5231 |11 |E2
5231 (12 |E2
5232 |0 E2
5233 0 E2
5235 |0 E2
5235 [99 |E6
5236 |0 E2
5236 (99 |E6
5237 |0 E2
5237 (99 |E6
5238 |0 E2
5238 (99 |E6
5239 0 E2
5241 |0 E6
5255 (0 ES
5256 |0 ES
6101 (11 |E2
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6101 |12 [E2
6101 99 [E2
6102 11 [E2
6102 |12 [E2
6102 99 [E2
6111 11 [E2
6111 12 [E2
6111 99  [E5
6111 99 [E2
6112 11 [E2
6112 12 [E2
6112 99 [E5
6112 99 [E2
6113 11 [E2
6113 |12 [E2
6113 99 [E5
6121 0 [E2
6121 99 [E5
6122 0 [E2 )
6122 99 [E5 )
6123 0 [E2
6123 99 [E5 )M
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6130 0 E2
6131 0 E2
6132 0 E2
6132 |0 E7( ) 1.5mm, 0.0mm
6133 |0 E2
6134 |0 E2
6136 |0 E2
6137 0 E2
6141 |0 E2
6142 0 E2
6201 |0 E2
6211 0 E5
6212 0 E5
6213 |0 E5
6214 0 E5
6215 0 E5
6216 |0 E5
6221 0 E5
6222 |0 E5
6223 0 E5
6224 |0 E5
6225 0 E5
6226 |0 E5
6231 0 E5
6232 |0 E5
6233 0 E5
6301 |0 E2
6302 0 E2
6303 0 E2
6311 |0 ES
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6312 ES
6313 ES
6314 ES
6315 ES
6316 ES
6317 ES
6318 ES
6319 ES
6321 ES
6322 ES
6323 ES
6331 ES
6332 ES
6333 ES
6334 ES
6335 ES
6336 ES
6337 ES
6338 ES
6340 ES
6341 ES
6342 ES
6345 ES
7101 E2
7102 E2
7103 E2
7104 E2
7105 E2
7106 E2
7107 E2
7108 E2
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7201 |11 |E2
7201 (12 |E2
7201 (99 |E2
7202 |0 E2
7202 199 |E2
7205 |11 |E2
7205 |12 |E2
7205 (99  |E2
7206 |0 E6
7211 |11 |E2
7211 |12 |E2
7211 99  |E2
7212 0 E2
7212 199 |E2
7213 |0 E2
7213 |0 E6
7213 99  |E2
7214 0 E2
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7214 99  |E2

7301 (0 E5

7302 |0 E5

7303 |0 E5

7304 (0 E5

7305 (0 E5

7306 (0 E5

7307 |0 E5

7308 |0 E5

7311 (0 E5

7312 |0 E5

8110 |0 E7( ) .0mm, 3.0mm
8111 |0 E7( ) .0mm, 2.5mm
8112 |0 E7( ) .5mm, 2.9mm
8113 |0 E7( ) .5mm, 1.1mm
8114 |0 E7( ) .5mm, 1.1mm
8115 |0 E7( ) .5mm, 0.9mm
8116 |0 E7( ) .5mm, 0.9mm
8117 |0 E7( ) .0mm, 1.2mm
8118 |0 E7( ) .0mm, 1.0mm
8119 |0 E7( ) .0mm, 0.7mm
8121 |0 E7( ) .0mm, 1.5mm
8122 |0 E7( ) .0mm, 0.7mm
8123 |0 E7( ) .0mm, 1.5mm
8124 |0 E7( ) .0mm, 0.7mm
8125 |0 E2 2
8125 |0 E7( ) .0mm, 0.7mm
8126 |0 E7( ) .0mm, 0.7mm
8126 (0 E2 2
8127 |0 E2 2
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8127 E7( ) .0mm, 0.7mm
8131 E7( ) .5mm, 0.5mm
8134 E7( ) .5mm, 0.5mm
8140 E7( ) .0mm, 0.5mm
8141 E7C ) .0mm, 0.5mm
8142 E7( ) .0mm, 0.7mm
8151 E7( ) .0mm, 1.0mm
8152 E7( ) .0mm, 0.7mm
8153 E7( ) .0mm, 1.0mm
8161 E7C ) .5mm, 0.6mm
8162 E7( ) .5mm, 0.9mm
8163 E7( ) .0mm, 0.7mm
8171 E7( ) .0mm, 0.7mm
8173 E7( ) .5mm, 0.0mm
8174 E7( ) .5mm, 0.0mm
8175 E7( ) .5mm, 0.0mm
8181 E2 2

8181 E7( ) .0mm, 0.7mm
8182 E7( ) .5mm, 0.7mm
8183 E7( ) .0mm, 0.7mm
9001 E7C ) .0mm, 0.5mm
9004 E2 3

9005 E2 2

9005 E7( ) .0mm, 0.0mm
9006 E2 2

9006 E7( ) .0mm, 0.5mm
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Code E;/%e E:i;s

9001 |0 Line

9002 |0 Line

9101 [0 Point .0mm
9102 [0 Point .0mm
9103 |0 Line

9104 |0 Line (
9105 |0 Line

9106 |0 Line

9107 |0 Line

9108 |0 Line

9109 |0 Line

9201 |0 Area

9202 |0 Area

9203 |0 Area

9211 |0 Area

9212 |0 Area

9213 |0 Area

9214 |0 Area

9215 |0 Area

9301 |0 Line

9302 |0 Line

9303 |0 Line

9305 |0 LineE2

9306 |0 Line

9307 |0 Line

9309 |0 Line

9401 |0 Area

9401 |1 Line

9401 2 Line
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